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2a. N°o, Charlie has—;- which is less than 2b. »fo. Savannah has —i- which is more



Yellow answers

1. a)5/8-2/8=1/8+2/8
b) 10/11-3/11=3/11+4/11

2) Francis is incorrect.
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Francis will have 3 left over.

3) Alexander is incorrect.
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8q. 6 3 _.3 b 5 2
8 "8 8 0~ 10

Red answers

1) a) These are some of the possible answers: h)
J _1_1_ .5 5 & 1 _ &
12 712 T 12 12 16~ 16~ 16 ~ 1&
J 2 _1 .4 s & 2 _ &
12 12 ~ 12 12 16~ 16 ~ 16 ~ 16
J_3_1.3
12 12 ~ 12 12
T _ & _ 1 .2
12 12 ~ 12 12
I _5_1 .1
12 712 T 12 12
2) These are the possible answers:

0 2 2 &6 _ 0

107 10~ 10 ~ 10 T 10

0 2 & 2_0

107 10~ 10 ~ 10 T 10

o0 &6 2 2z 0

107 10~ 10 ~ 10 T 10

0 & & 2 0O

107107 10 T 10 T 10

0 & 2 & 0O

107107 10 T 10 T 10

o0 2 &5 & 0

107 10~ 10 ~ 10 T 10



3.

There are o wide variety of possible answers. Subtractions include:
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?q. #:ccepi any i_mages split into 8 equal
parts where 7 part are shaded, with 6 of

the 7 parts crossed out.

10aq. False - the answer is %

5.
5

da. —

12 5 4
Sa. Remi is comrect as Tis mare than —.

ba. m

9a. A}:cebi_any'irhages splitinto 10 equal
parts where 9 parts are shaded, with 5 of
the 9 parts crossed out.

10a. True

ab. 2

10
Sb. No, Amit hus% which is more than

4

8



